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Direction (1- 10): In the fo�owing passage, there are blanks, each of which has been numbered.
These numbers are printed below the passage and against each number �ve words are suggested,
one of which �ts the blank appropriately. Find the appropriate word in each case.

In the past couple ___(1)___ years, China had begun a�owing encouraging, companies and
people ____(2)___ invest more of their wealth overseas. Doing ___(3)___ helped reduce
de�ationary pressures at home from chronic over investment and overcapacity ___(4)___
increased China's in�uence around the world. But a trickle ___(5)___ money leaving China to
buy houses and other overseas investments has become ___(6)___ �ood this winter. The
central bank has responded by trying for the past three weeks to slowly guide ____(7)___
currency down as a away to help bolster exports and ____(8)____ make overseas investments
seem more expensive ____(9)___ less appealing. This week, regulators also put in place a so -
ca�ed circuit breaker ___(10)___ the market, a mechanism that halts trading when shares fa�
too steeply.
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1. Choose the appropriate word? *

2. Choose the appropriate word? *
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3. Choose the appropriate word? *

4. Choose the appropriate word? *

5. Choose the appropriate word? *
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7. Choose the appropriate word? *

8. Choose the appropriate word? *

9. Choose the appropriate word? *
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Direction (11-15): In the passage given below there are blanks which are numbered from 1 to 5.
They are to be ��ed with the options given below the passage against each of the respective
numbers. Find out the appropriate word in each case which can most suitably complete the
sentence without altering its meaning. . If none of the words given in options �ts in, mark ‘None
of these’ as your answer choice.

Ousted Sri Lankan Prime Minister Ranil Wickeremesinghe’s a�iance on Friday ___1___ control
of a powerful panel in Parliament, dealing a major blow to President Maithripala Sirisena and his
prime ministerial ___2___ Mahinda Rajapaksa. President Sirisena’s party members walked out
of Parliament, which ___3___ its session on Friday after being adjourned on Monday,
___4___ against Speaker Karu Jayasuriya’s move to appoint �ve members of the United
People’s Freedom A�iance (UPFA), which is led by the President. This is in continuation of the
political ___5___ plaguing the country since October 26.
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Direction (16-20): In the passage given below there are blanks which are numbered from 6 to 10.
They are to be ��ed with the options given below the passage against each of the respective
numbers. Find out the appropriate word in each case which can most suitably complete the
sentence without altering its meaning. . If none of the words given in options �ts in, mark ‘None
of these’ as your answer choice.

13. *
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15. *



In ___6___ the Jammu and Kashmir Assembly without giving any claimant an ___7___ to
form the government, Governor Satya Pal Malik has violated constitutional law and convention.
Mr. Malik’s ___8___ reasons for his action — “extensive horse trading” and the possibility
___9___ a government formed by parties with “opposing political ideologies” would not be
___10___ — are extraneous.
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Direction (21-25): In the passage given below there are blanks which are numbered from 11 to 15.
They are to be ��ed with the options given below the passage against each of the respective
numbers. Find out the appropriate word in each case which can most suitably complete the
sentence without altering its meaning. . If none of the words given in options �ts in, mark ‘None
of these’ as your answer choice.

Cricketing reputations are sometimes ___11___ or shattered based on how a player performs
against Australia. That’s ___12___ something of a trend ever since the West Indies began its
free ___13___ after losing to Australia in the mid-1990s. And Australia, in its own backyard, is
considered the ___14___ opposition. Sachin Tendulkar has scored 100 international centuries,
but even today his ___15___ 114 at Perth during the 1992 tour of Australia is regarded as one
of his �nest.
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